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March 21, 2006
All work must be shown to receive credit.  Use dimensional analysis for calculations.

Avogadro’s Number = 6.022 x 1023/mol
Chlorine is used by textile manufacturers to bleach cloth.  Excess chlorine is destroyed by its reaction with sodium thiosulfate as follows

Na2S2O3(aq)  +  4 Cl2(g)  +  5 H2O(l) (  2 NaHSO4(aq)  +  8 HCl(aq)
1. (3 points) How many moles of Na2S2O3 are needed to form 0.250 mol of HCl?
2.  (3 points) How many molecules of water will react with  5.22 x 1021 molecules of Cl2?
3. (4 points) How many grams of NaHSO4 will be produced by the complete reaction of 50.0 grams of Cl2?
4. (4 points) How many grams of chlorine gas are required to react with 8.24 x 1026 formula units of Na2S2O3?

5. (6 points) A substance was found to be composed of 45.27% C, 9.50% H and 45.23% O.  What is the empirical formula of the compound?
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All work must be shown to receive credit.  Use dimensional analysis for calculations.

Avogadro’s Number = 6.022 x 1023/mol
Chlorine is used by textile manufacturers to bleach cloth.  Excess chlorine is destroyed by its reaction with sodium thiosulfate as follows

Na2S2O3(aq)  +  4 Cl2(g)  +  5 H2O(l) (  2 NaHSO4(aq)  +  8 HCl(aq)
1. (3 points) How many moles of Na2S2O3 are needed to form 0.520 mol of HCl?
2.  (3 points) How many molecules of water will react with  2.25 x 1021 molecules of Cl2?
3. (4 points) How many grams of NaHSO4 will be produced by the complete reaction of 70.0 grams of Cl2?
4. (4 points) How many grams of chlorine gas are required to react with 4.28 x 1026 formula units of Na2S2O3?

5. (6 points) A substance was found to be composed of 45.27% C, 9.50% H and 45.23% O.  What is the empirical formula of the compound?

